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QUESTION ONE
(@) Complete the invitation to the barbecue.

This invitation is for Anahera

You are invited to a barbecuel

__

We are celebrating A year of living in New Zealand

Where? My house in New Zealand
Day: Sunday
Time: 2:00pm

(b) Why has Alexandre checked the weather forecast?

B 7 U =~ = Spell Check

He checked the weather forecast to see if it would be raining on the day of his garden party, because if it was

raining, everyone would have to stay inside and there is not enough space inside so everyone at the party would be
crowded.

[Return to Audio Player]

(c) Explain how life is different for Alexandre in New Zealand compared to his life in France.

B 7 U =~ = Spell Check

Life is different for Alexandre because in France you are not expected to bring a gift when you go to someone's
house, but in New Zealand, it is polite to bring a gift such as chocolate when visiting someone's house.

[Return to Audio Player]




QUESTION TWO

(a) Complete Alexandre's shopping list for the barbecue, with the items he needs to buy and relevant details, such as
the amount needed.

Shopping List

v
Item Details

Ham 500 grams

Cheese 750 grams

A cake Chocolate

Tomatos 1 kilogram

Potatos 3 kilograms

Some bread From the bakery; supermarket bread is not good.

Drinks Drinks that our friends like to drink

Milk 1 litre

(b) What must Alexandre take with him? Give detailed information.

B 7 U <=+ = Spell Check
He must not forget the money on the kitchen table, and the bag to put to the food in.

[Return to Audio Player]

(c) What are the travel plans for Alexandre's shopping trip? Explain your answer using evidence from the passage.

B 7 U &=~ = Spell_ Check

First he needs to take the bus number 15 across the street, because it is the faster route to the supermarket. Then,
Alexandre's father will pick him up in the car, then he must wait at the car park in front of the supermarket.

[Return to Audio Player]



QUESTION THREE
(a) What activities had Alexandre planned for the party?

B 7 U =~ = Spell Check

He prepared a spotify playlist for everyone to listen to, he planned to go swimming, and he planned to play cricket
with his family.

[Return to Audio Player]
(b) What was the weather like?
B 7 U - = Spell Check
There was sun, but it was still cold so they could not go to the pool.
[Return to Audio Player]

(c) Was the party a success? Why / why not? Explain your answer using evidence from the passage.

B 7 U =~ = Spell Check

The party was not a success. This is because firstly Alexandre's phone fell off the balcony after he prepared a
spotify playlist, so they no longer had music at the party. He also planned to go to the swimming pool but it turned
out to be too cold so they couldn't go. Lastly, they went to the park to play cricket, but after only 15 minutes, his
father had an accident so they had to stop the game and call the Accident and Emergency Department which
arrived after four hours.

[Retumn to Audio Player]
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Annotation

A4

There is evidence of some detailed understanding — ie a year of living in New Zealand,
not enough room inside if it is raining, but overall understanding lacks connections and
details. There are also instances of misunderstanding, such as bringing a gift in NZ and
lack of detail regarding how life is different for Alexandre.

A4

There is evidence of detailed understanding of the shopping list — ie bread from the
bakery because the supermarket bread is not good, and the quantities are accurate.

In section b) there is a lack of accurate detailed understanding ie the money is on the
table in the living room (not kitchen), the bus is not across the street. Other important
information is also not included or is misunderstood ie Dad is going to pick him up
because the bags will be too heavy, Dad will wait for him in the car park in front of the
supermarket.

Ad

Some key information is understood such as making a playlist on Spotify, dropping and
breaking the phone which resulted in no music, Dad having an accident after 15
minutes playing cricket. There is, however, a lack of evidence of detailed understanding
overall. Important details are not included or misunderstood, such as deciding to go to
the park because, despite the sunshine it was too cold to go to the beach, waiting for 4
hours at A&E,
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